2 @ - Moltiplicare per potenze di dieci ( numero mancante
5] 4 )

Nome: Data: Punteggio:
5,525 % = 5525 8,493 x = 849.3
7,938 x =793.8 10, 15 x =101.5
8,39 x = 839 2,498 x =24.98
2,819 x =281.9 2,286 x = 2286
5,541 x = 554.1 10, 142 x = 10142
2,342 x =23.42 3,618 x =36.18
1,385 % = 138.5 7, 988 x = 7988
8,73 x = 8730 6, 206 x = 620.6
3,875 x = 3875 1,22 x =122
10, 38 x = 1038 8,393 x =839.3
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2 ) @ Moltiplicare per potenze di dieci ( numero mancante
Ll )

Nome: Data: Punteggio:
5,525 x 1000 = 5525 8,493 x 100 = 849.3
7,938 x 100 = 793.8 10,15 x 10 = 101.5
8,39 x 100 = 839 2,498 x 10 = 24.98
2,819 x 100 = 281.9 2,286 x 1000 = 2286
5,541 x 100 = 554.1 10, 142 x 1000 = 10142
2,342 x 10 = 23.42 3,618 x 10 = 36.18
1,385 x 100 = 138.5 7,988 x 1000 = 7988
8,73 x 1000 = 8730 6,206 x 100 = 620.6
3,875 x 1000 = 3875 1,22 % 10 =122
10, 38 x 100 = 1038 8,393 x 100 = 839.3
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